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Question No: 33
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LHS=(4+2)+2
_ (20+6) 5(/0 5)

LHS=(3+ ) + 2

5
= (%) -+ %(0.5 mark) = 1—5 + 7(/ 0.5)
= %24— 2 (0.5 mark) 18245 g 5)
_ ;;8;75 (0.5 mark) _ o (/ D
= o5 (1 mark) 105
R.H.S R.H.S

3+ (5 +7)

4 2 . 5
:—+(14+25)(05mark) 3 (5 7)

= 4+ + 3 (0.5mark) :% (14+25)/05)
= 25 (05 mark) — 44 39(40.5)
= $oF (1 mark) 1404117 (/,}0 5)
L.H.S=R.H.S -1
257
= BL( 1)
L.H.S=R.H.S
fU ={1,2,3,..... 10} and C = {1, 3,5,7,9}, then prove that C N C° = ().(5 marks)
(ACN 0 = 0y S eibinC = {1,3,5,7,9) 51U = {1,2,3,.....10}.1
Cc=U-C
cce=U-C :
= {1,2,3,...10} — {1,3,5,7,9}(1 mark) =1{1,23,...10} —11,3,5,7, 9}({’/1)
= {2,4,6,8,10} (1.5 marks) = {2,4,6,8,10}(+1.5)
CNe=11,3,5,7,9}M{2,4,6,8,10} (tmark CnCe={1,3,57,9}N{2,4,6,8,10}(#1)
= () (1.5 marks) 5
Hence proved that C N C¢ = ) = 0(+1.5)

CNCE = Ptz

Question No: 34

a ) Farah saved Rs 1400000 for one year. Find the amount of zakat she has to pay. (5 marks)
(A5)-beybSitetag St ¢ 1§35 211400000& S Lid 0}
¢ 1 F=14000002_s/
T =Rs 14 & :
otal amount = Rs 1400000 C/u(b':'r]=2.5,v‘£
Rate of zakat =2.5% - . -
Amount of zakat = Rate of zakat x Total amount ﬁ/d/”fj—@/"d/"f)xﬁ J(

= x 1400000 (2 marks) _
100 — 25 1400000(+2)
Amount of zakat = Rs.35000 (3 marks)

So, Farah has to pay Rs 35000 zakat. ﬁ J":’/J 350004.)/(//3)
ol 553500097

The general term of a number sequence is a, = 5n — 3. Find the first three terms of the sequence. (5 marks)

(/5)—‘_[/(:1’“‘(3’/‘;).’.’ &{'Jé’-gan = bn — 32/‘.]/‘24,,(&’“6;,@
S =14 P

For 1stterm Putn = 1

a; =5(1) —3 =5 —3 =2 (1.5marks) a1:5(1)—3:5—3:2(/1.5)
For 2nd term Put n = 2 J“/an=2“id/ﬁ/d/»
as = 5(2) —3 =10 — 3 = 7 (1.5 marks) .

For 3rd term Put n = 3 a2:5(2)—3:10—3:7(/1.5)
as = 5(3) — 3 = 15 — 3 = 12 (2 marks) S lnn=3L $F 64

The first three terms of the sequence are 2,7,10.

as =5(3) — 3 =153 = 12(#2)
271008 e SES LS
Question No: 35
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a ) Factorize a®> — 10a + 21. (5 Marks)

(#5)-g 6% Sa? — 10a + 21

2 _
(a2 — 10a + 21) (a* ~10a + 21)

= a® — Ta — 3a + 21(2 Marks) =a’>—Ta—3a+ 21(;‘;2)
=ala—7) — 3(a —7) (2 Marks) — ala—17)—3(a— 7)(/2)

= (a — 7)(a — 3)(1 Mark)

— (a—7)(a—3)(#1)

Solve.4(x — 3) + 1 =6 — 3(z + 5) (5 Marks)

(#)(z—3)+1=6—3(x+5)-u/Sf
Az —3)+1=6—3(z+5)

Mz —3)+1=6—3(x+5) 42 —12+1=6— 3z — 15(#1)

4r — 12+ 1 =6 — 3z — 15 (1 Mark)

4 — 11 = —3z — 9(1 Mark) 4r — 11 = —3x — 9(/7}1)
4z + 3z = —9 + 11 (1 Mark) 4z + 3z = —9 + 111
Tr = 2 (1 Mark) T ST * (/ )
T = %(l Mark) e = 2(+1)
T = %(/t‘/l)

Question No: 36

a ) A college bus travels at 40 km/h speed in the first 2 hours and 50 km/h in the next 3 hours.Find the average speed of the bus. (5 marks)

5)-(2:/(}1’/1[:’./2/}’JJﬁ-‘LBI}’LJB/JJ&/?)KSOJ:U%ﬁ'/)'LJDJJ}Jé/?!K4OU’:U%%U{Jég
4
,L”l:'o)/L:JC"/x:})

Dis tan ce traveled = Speed x Time Jfby/:lfiufé‘i/»: 40 x 2 = 80/}’{%(/7/1)
Distance traveled in first 2 hours = 40 x 2 = 80 km (1 mark) yw(b(&uﬁguf: 50 x 3 — 150}{%(/:)1)
Distance traveled in next 3 hours= 50 x 3 = 150 km (1 mark) . 5 , .

Total distance= 80 + 150 = 230km (0.5 mark) J"G‘){: 80 + 150 = 230/‘{%(/7/0-5)

Total Time = 2h + 3h = 5h (0.5 mark) &,f:2g+3g:5&7(/0,5)

_ Total dis tan ce traveled
Average speed - Total time taken

Average speed = % = 46km /h (2 marks)

“. . = * *
Il sl= % — 46,”»‘*"/&}/2‘%(/’/2)
Construct an equilateral triangle XYZ of a side length 6.4cm. (7 marks)

AT 25 6 A0ST L L S XY Za oI Solr

* .. . . ' 5 b.
1. For draw a line segment XY of length 6.4cm. (1 mark) (/1)‘4$/XYJ”7}”V{'J&LXJ/{W6°4-1
2. For constructing an angle of 60° at points X and Y with the help (/3)_/ Sl 60% Xl YL Ve su JJK/ 2
of a compass. (3 marks) " ) ) . . N o ) .
3. For drawing two rays from points X and Y meeting each other igg/”,{i/? Z&’iﬁ/vrgﬂfj‘b‘””‘“— Yl X&’%ﬁ
at point Z. and correct labeling (3 marks) (/3)42./&&/}/}!@7

Question No: 37

a ) Find the exterior angle of a regular polygon with 9 number of sides.(5 marks)

(/5)-q/()’”:uU&)/:.LZ,MM}Q’”J%M9.{!
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No.of sides (n) = 9&00 ;I,JJCMI (n)=9

Exterior angle =

n *
put n=9 :”Ud’/:‘: 3(:?
__ 360° .
= <5 (2marks) 4;&./@/) n=9

= 40° (3 marks)

= 30" (42)
— 40°(#3)

The weight of 8 students are 54, 49, 51, 58, 61, 52, 54, 60 in kgs. Find the median. (5 Marks)
(FS)f/ p# obosc Ut 1 S #54, 49, 51,58, 61, 52, 54, 600/6:L 8
54,49, 51, 58, 61,52, 54, 60211 »

Given data: 54, 49, 51, 58, 61, 52, 54, 60. ‘“—‘%’vfftﬁvf/@f‘/{'/

Arranging the data in ascending order, we get 49,51, 52,54, 54, 58,60,61( 1)

49,51, 52, 54, 54, 58, 60, 61.(1 mark) ' 3 .

Median = 4hterm+5™term ,:;Uy/)z(ﬁ Jf/f:-l-ﬁjqf'l})/z
2 .

= 5452 (1 mark) Slb-s= 54;54 1D

_ 108 .

= = (L mark) = %(/1)

= 54(2 marks)

— 54(+2)






